MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

R A TP & (ke/ 4, Z A4 %> Bdmg—TEQ/ A

it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 | 17 18 19 20 21 ;EB% FQ%SB%
o WA HEHHD | x| . g | TS| BEVL | B RN | s L BERAB . | BRE | BE | | AVUE A GRS | TR RO | EREE | g
w5 By | B BEA AR BT s | | oo | om | IO SEE TG W | e | 8 e som | ke | mie | Ry | BT
1 [ OKEVEL W) 2.1 0.47 7.9 77 33
2 | TIINTIR 0.35 0.057 0.41
3 | TOUNEEEF L 3.8 142 0.012 146
4 [TIINEER O ORI 8.8 0.027 8.8
5 | TOUNMEE2— (VAFATI)) ZF )V 142 142
6 |[77ULEE2—ERuF =T 0.041 0.0006 0.041
T TN N —T T 15 0.037 15
8 |7 I/UNEEAT L 0.010 142 0.0008 142
9 [77)a=kJ)L 0.019 56 0.006 56
10 [7r7mL A 33 179 2,158 9.8 358 43718 2,859
11 [ 7 A MY A 0.034 0.034
12 | 7®bATER 0.002 155 986 11,449 53] 1,506 1,003]  104] 66 0.001 53 15,376
13 [ 7ER=FIL 53 15 68
14 [7®h o7 /R
15 77Ty
16 |2, 2 —7/EALYTFu=RL 0.0002 0.0009 0.001
17 ANh—T=2Tr
18 7=V 0.035 0.011 0.046
19 [1—=73/-9, 10— 7 +o% /v
20 [2—73)xH)—)L 92 30,173 9,751 40,016
21 \yaysy
22 |[747a=) 1.0 21 22
23 | RG=T)Tx )=
24 | A—=T)T=)—
25 [ ANT Vv 100 100
26 [3—73I/—1—Fn~
27 | AZ3pm
28 | TULT a—)
29 [1—7UNAFL—2, 3—TRFL TS

HET X NP VR R RFD
30 M (T AFNEDRFRNL0G14ET 378 3,105 66 48,722 7,275 59,546

DHOROEDIREYNZRD., )
31 [ ToFELROZEDED 6.6 0.026 38 2.3 47
32 |[TUhTk 0.0001 0.0001
33 Ak

3—AYYTFRAF N —3, 5, 5—hIAF
R R e S 0-35 0-35
35 | AITFATNTER
36 | AT 1,562 1,562
37 [ERx7=/—)LA 0.007 0.56 0.57

2,2 —{(y7ur )T e R[(2, 6V
38 | TEE—4, 1—Txz=L)FFV] s

J—Iv
39 | T7xFIKA
40 [E7=FP—h 100 100
41 | TN T=)v 738 738
42 [2—AF VT AL 0.69 0.69
43 ARV
44 AU LR OEDILEY 0.00009 0.012 0.013
45 | =X TFF—)v
16 X PRy T TFL 147 147
4T [ THIRA 162 162
48 |EPN
49 [T AR 4,731 4,731
50 [EUx—h
51 |2—TF )L~FH 17 0.30 18
52 | 7I=HINT 320 320
53 | LB 28,683 5,411 17 18,392 246 33,384 611 273 3,137 26 16 7.5| 90,204
54 |RAFTE—h 86 86
55 |ZFL A
56 | TFLAFIN 288 54 342
57 |TFL Y )a—E)TF LT —F )L 375 0.002 0.072 375
58 |TF LS )a— /T ) AF L T—T L 20 0.048 20
59 |TFLLVTI 0.009 0.0006 0.009
60 |TFL o TT I IURERE L1 13 28 43
61 |[~> %7 100 100
62 |~ atT 12,164 12,164
63 |77 IR 4,613 4,613
64 |Th7=rTuysA 365 46 411
65 |rErmneR) 0.026 0.026

-1




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

R AR B (kg/%E, Z A4 %>~ Bldmg-TEQ/

it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 17 18 19 20 21 ;ngg F’g%
o WA HEHHD | x| . g | TS| BEVL | B RN | s G BBEE) . BGE W AU A EGH | A | R ERE | s
w5 By | B BEA AR BT s | | oo | om | IO SEE TG W | e | 8 e som | ke | mie | Ry | BT
66 |1, 2—TR¥LTH
67 2, 3—TARFY—1—Tw/)—)L
68 |Ak{LTmEL 0.014 0.014
69 2, 3—ARFL S U =T =)L —F

v
70 |EYAVT U BLaZBRAE R U=~ A 20 30

F U BlbZ BEBREORSE
71 [HEAkEE gk 0.14 0.14
79 ML STT A (RFEHIL022513ETO

HOROZDIREWIIRD, )
73 [1—A25)—n 0.050 0.0001 0.050
T4 [RG—FIFNT )= 0.040 0.040
75 [ WRIV LR OZEOIEY) 0.007 0.057|  0.014 5.6 0.50 6.2
76 | AFvur—hTuI BN 0.092 0.039 0.13
7 [y s T IR
78 [2,4—FLL/—
79 [2.6—FLL/—
80 ¥l 37,446 6,637 155 361 34,414 99,074 1,261 132,030 1,823 1,276 7,779 104 39 13 39| 322,451
81 (% /U 0.00004 0.00004
82 |$RR O DKIEHALE D 5.5 8.5 0.18 14
83 |[sA 349 715 21 1,085
84 |\ JUAFH— 0.015 0.015
85 | JNHNT LT ER 6.7 0.049 6.8
86 [sL—)L 1.6 45 0.001 46
87 [7ul U =AMlizaMuE 1.0 0.034 0.60 0.47 21 1.2 25
88 Afifizu b AW 0.45 0.45
89 | runy =
90 TRV 257 257
91 27 SV 300 300
92 [ML7=ETR 375 375
93 [ ANTF/m—L 828 828
94 ke =1 0.76 0.76
95 [T IF L 275 275
96 |P7x/af—) 100 100
97 [1—rmr—2— (UraArF ) B
98 | /oofEfE
99 | ZoofifEaTF L
100 [FLFF/m—1L 174 174
101 [757a—L 2,244 2,244
102 [1—7vpnr—2, 4—y=fa~ B
103 [HCFC—142b 2,142 2,142
104 [HCFC—22 8,818 8,818
105 [HCFC—124
106 [HCFC—133
107 [CFC—13
108 (A= uy 213 213
109 [A/NVh—rmaplzs
110 (/35 —ZouhlLxy
111 [2—/na—4—=fa7 =
112 [2—Znu=fa~r P
13 [vvor
14 A5 )77
115 | 7= hIHIR 515 515
116 [~F F TV IR 40 40
17 |[77afy—u 254 2.5 257
118 Sy %=L 10 10
119 |7z Tafy—n
120 |ANh—rmanTc/)—)L
121 /85 —raa7x/)—\L
122 [2—/mur a4
123 [Hi{b7 U
124 (73
125 | 7oL ¥y 109 6.2 3.2 119
126 [CFC—115 5.2 5.2
127 [ZaakL s 81 452 95 3.3 631
128 [MifbAF v
129 |4—7vn—3—AFNTx/)—)
130 [MCP
131 [3—aa—2-—AF )L —1—F
132 [Z2 VB RO DL E ) 10 0.022 0.032 63 0.11 74

-2




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

KB FIE FERHRE (ke/%F, ZAA %> Bldme—TEQ/4F
it 1 2 3 1 5 6 7 8 9 10 11 12 13 11 5 | 16 18 19 20 21 gngg F?‘g%
o WA HEHHD | x| . g | TS| BEVL | B RN | s G WEEE) o BRE | AU ARG AR A | T | R | FERPE |

w5 ey | B BRA A BTN o | v | om | B SR T B | T e | oW | wwn | mi | RS EPR
133 i;ﬁf”:‘ﬂ’”%/l?”lﬂwlj 337 0.005 337
134 | FEREE =L 144 121 2.0 268
135 ;%t‘/iuz—/lx{—/}%w:n—?w%\z

S
136 | HUF LT ILTER
137 273K 212 212
138 Yy vk
139 | NFmANL 2.8 35 63
140 | 7xr T asR)y 30 1.4 31
141 L EF = 102 102
142 2, 4—V73)
143 4.4’ — V7V T =T
g | BT B GRAL O 7 e . o o6
145 [2— (P=FNTI)) B )—)v
146 | CUSTRAAF L
147 |FA N T
148 | H 7= Aha—/L 256 256
149 | Pt {bp 0.048 0.048
150 1, 4— VA4 17 16 22
151 |1, 3—VA%YF
152 HINHYT 79 79
153 | FhFAN 228 228
154 v 7a~F VT
155 | N— (L /a~F UV FH) THAAIR 0.46 2.1 25
156 onar =y
157 1. 2—yymnxyy 24 0.45 24
158 [Hifke =7+
159 v A—1, 2—Y7nnx=F L
160 |3 3 —vran—4,4 —TT7I)TV 7=

JVAR
161 CFC—12 3.253 3.253
162 7 BEHFIF
163 CFC—114
164 HCFC—123 338 338
165 |2, 4—Y /Loy
166 |1, 2—y7un—4—=ha~_ Y
167 |1, 4—V7rn—2—=pa~ By
168 A0 Ay 248 248
169 | Uvmy 0.17 460 0.23 460
170 |FhFary—v
171 Fucady—u 775 27 302
172 AFA D yuihy 117 117
173 trrayy
174 J=am 4718 4718
175 2.4-D 1.549 1,549
176 HCFC—141b 6,510 6.510
177 HCFC—21
178 1, 2—vymarasy 5.0 5.0
179 ' D-D 3.869 3,869
180 |3, 3’ —vrma_Lvvv
181 | Prap~s 0.15 359 36,668 0.007 12| 37040
182 E5Y %y T2y
183 EF/L—h 285 3.0 288
181 Yyu~= 101 101
185 1ICFC—225 73 73
186 |t ATL 9512 12 9,524
187 OFT 1,536 1536
188 N, N— U3 /a oL 73
180 N N=Uvande =2 =~y F7

SNV ANT 2T IR
190 Do rn~opoTy 0.0002 0.0002
191 AV TaFFo 12 12
192 |5 47 xR A
193 | =FNF A A
194 Yy
195 /oA A 693 693
196 | AF & FH
197 ~5vy 418 118

-3




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

R A TP & (ke/ 4, Z A4 %> Bdmg—TEQ/ A
it 1 2 4 5 6 7 8 9 10 11 12 13 14 15 6 18 19 20 21 gngg ri%;g
o WA HEHHD | x| . g | TS| BEVL | B RN | s G WEEE) o BRE | AU ARG AR A | T | R | FERPE |

w5 P I e s I A e A A e S WM | RWE | R | s | e
198 | Ah=—h
199 [CIZ VAL A& 1260
200 |v=hallLx
201 |2, 4—Y=pbp7=/)—)L
202 |[VE =R
203 |YPTx= AT 0.25 0.25
204 |V T x=)L—T )L
205 |1, 3— V7= NI T =V 0.00003 0.00003
206 | HNVIRANT 7
207 i\zf;‘/’ﬁ_‘/w’7§””4’” 1.7 139 1 0.026 152
208 (2, 4= —H— %) =T FLT =)=
209 |7 EEI/OOAZL 75 164
210 |2, 2— 7 aE—2— 7 )7 RFTIR
211 |mr—2402
212 |7 7=—h 990 990
213 [N. N—JAF LT ERTIN 113 7.0 0.28 121
214 |2, 4=V AFNT =)
215 |2, 6=V AFNT =)
216 [N, N—VAF LT =V 0.003 0.003
217 |[FALIF 0 100 100
218 [UAFAT I 0.94 0.002 0.94
219 [PAFNDANT AR
220 | PAFNTF AN SIUBEO KR
221 [ NUTFINT 304 304
222 |7 )FHINT
223 IN. N=VAFARF AT IV
294 ‘:I\/I,I\‘\Nf‘/)‘?/lxl\T‘//I/T‘\/—N*ﬂ‘aF 21 8,180 58 8,258
225 |NJZmLaky 4.3 4.3
226 |1, 1=V AFAERTFV
227 [/"5a—h 3,295 3,295
998 3,3 \—‘7‘)‘7‘}1/1:‘\7:::}1/—4, 4 =4

=T AT FR—k
229 |FAT 7 R—FAF /L 2,403 2,403
230 N—(1, 3=VAFALTFN) =N’ —7=

SN IRT =T VT
231 [ A)Vh—hIP
232 [N, N—UAF LAV LT IR 4,798 4,798
233 |7z bx—} 900 900
234 | R 0.038 0.005 0.043
235 | LRI KIEVES 0.00006 0.00006
236 |7 AAFT =L 810 810
237 KERKR O DALED 0.31 0.61 11 12
238 |KF#LT N T =)L
239 | HHEAXLAY 1.4 1.4
240 (AF L 1,000 0.040 31 169 6,449 324 297 1,707 9,976
o41 |2ZTRVANKY TG =1 AT v

AT VFRIT L
242 | EL R OZOEY 0.002 2.3] 0.001 2.3
243 [FAAF K 210 210
244 |5 Ak 27,117 27,117
245 | FA IR 0.00005 0.0005 0.0006
246 |FATx/)—)v
247 [EF /KA
248 [ HAT V) 740 740
249 |7V EYRA 84 84
250 | AVFHFA 202 202
251 | 7x=haFio 1,825 86 1,912
252 |7 F A 39 39
253 | 707 = J5kA 120 120
254 | A7 BRURA
255 |7 AT BEST 2= L T—T )L 0.032 0.032
256 |7 2.0 2.0
257 |7 —)v 6,313] 0.0003 6,313
258 [~FHFAFLUTRTI 0.34 431 0.37 432
259 | CANT AT A L5 15
260 |[/mnXn=,L 1,166 1,166
261 | 7H AR 2,937 2,937
262 |7 hF/unxFL 1,034 2.0 5.6 1,042

-4




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

B CTE TR (ke 22, 7 A4 %> Ems TR0/
it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 ;Eg‘g Fgg‘g
& W4 HERAD | v | . e | MHEBETE| VEAAL- BB BT | s | - WA . | BOE | | | AYUIR | SRR Ead | T | RO | R sy
w5 By | B BEA AR BT s | | oo | om | IO SEE TG W | e | 8 e som | ke | mie | Ry | BT
263 |CFC—112
264 2,3,5, 6—FTh77an— "5 —_ %
S
265 | ThIEROAT VKT VIR
266 | T7/NVR) 87 87
267 |FATINT
268 |FTTUT L 0.96 4,230 4,231
269 | A7 4h—/1
270 |TL7Z)VIR 0.0002 0.000007 0.0002
271 |[TUIHNBY AF )V
272 |Gk IEMEHT (B2 BR<. ) 0.84 2.9 7.2 6.9 18
273 | L=/ —RF3 0.47 19 0.0004 19
214 |Z— %V —RTHFFH—/
275 | KT VAl R A 86 33 0.20 17,493 2,216 19,829
276 | ThF-FL U HI 0.29 2.4 2.7
277 [N =F )73 41 34 75
278 NTF LT3 1.3 6.5 7.8
279 |1, 1, 1—R)ZmpnxX
280 |1, 1, 2—R)/mpxg
281 |[KN)ZmmxcFL 2,242 0.66 7.9 2,250
282 | R 7 oaiEig 0.30 2.0 2.3
283 |2, 4, 6—FJ/un—1, 3, 5—hIT7Yv
284 |[CFC—113
285 |(rmanvr sy 21,492 21,492
286 |hUZuaE L 88 88
287 |2, 4, 6—R)/rn7=/—)
288 [CFC—11 5,315 5,315

289 |1, 2, 3—h)rrnr oy

290 [R)zmR~r

1, 3, 5—RJA(2, 3—=RFL 7 mL' L)
291 |—1, 3, 5—N7Yr—2, 4, 6(1H, 3

H, 5H) — kA
292 [NV FNTIv
293 (N7 NF) 1,695 1,695
294 (2,4, 6—R)7uET=/—)L
295 3, 5, 5—RJAF)L—1—~FH /—/L
296 |1, 2, 4—RUAF LB 8,090 1,773 306 186 17,618 92 15 140 28,219
297 (1, 3, 5—hAF AL B 3,493 7.2 83 5,009 259 10,394 223 319 1,051 7.9 14 20,860
298 MLV AJT T F—h 1.3 1.3
299 ML AP 0.008 0.009 0.017
300 LTy 59,345 20 1.3] 3,656 25,568 2,340 344| 226,225 2,726 1,845 11,023 78 34 109 1.7] 333,314
301 |MLor P 7Iv
302 [ FUHL 607 1,389 0.68 407 162 12 2,578
303 |1, 5—=FTHLL AN =AY T F—]
304 |46 0.014 0.014
305 gkt 2.3 0.68 2.2 19 5.6 30
306 | T ZUNEANFHAFL 0.025 0.025
307 | “HEifbmfby o= n
308 |=w/irL 0.034 6.7 6.8
309 |=v o ALE 0.75 0.14 235 14 3.1 253
310 | =hJu =R

311 [ANb—=brT=Y—)L

312 |[A)Vb—=brT=J

313 |=hrZ V&V

314 [T —=hprop~ B

315 A /Vh—=hahLx

316 |=ha~_ B 0.11 0.11
317 |=haAX 0.027 0.027
318 | hiifbiR 0.22 0.027 0.25
319 | )v=)v— =T va—)v

320 | /=T /)—)v 0.005 0.075 0.080
321 (NFUvLMEAEY 0.020 1.3 17 0.15 18

5 —[N, N—EARQ2—-TtFLAF=
FN)TI] =2 — (2—TuE—4, 6—
V=baZz= A TY) —4" — AN T RN
7=IUr

322 0.56 1.0 1.6

-5




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

R AR B (kg/%E, Z A4 %>~ Bldmg-TEQ/
it 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 | 17 18 19 20 21 ;EB% FIQ%SB%
o WA HEHHD | x| . g | TS| BEVL | B RN | s G BBEE) . BGE W AU A EGH | A | R ERE | s
w5 By | B BEA AR BT s | | oo | om | IO SEE TG W | e | 8 e som | ke | mie | Ry | BT
323 [T AN
394 1, 3%:“%[\(2, 3—xARF LT ) A
FUIE
325 [ A% 4 1,898 1,898
326 | /n7 =L FUL
327 |1, 2—EA(2—Zun7z=/L)ERTVL
328 [OF4 0.21 0.62 0.83
329 ARUA—/3A—h 469 469
ERA(Q—AFN—1—Tz=/L=F)L) =
330 |7 el 1.0 0.16 1.2
331 | AHPIRA 9.0 9.0
332 [WHLFE L O Z O A1) 0.000007 0.28/0.000003 2.1 0.39 2.8
333 [ERFUv 0.55 0.55
334 |[4—bRuX  ZREMAT IV
335 [N— (4—bFaFs7==/1) 773K
336 bR/ 0.40 0.90 1.3
337 [4—E =L —1— /n~Ftr
338 |2—E=LEYV
339 [IN—E=/L—2—trJR
340 B 7xz=1
341 [ERTT
342 BV 0.28 0.097 0.38
343 [ 17—
34 | T = VAR TT
345 | 7= LERT DL
346 [2— 7= T=)—) 136 136
347 IN— 7= )L<LA3F
348 | ==L VT
349 [7x)—)L 15 0.030 16 31
350 |~L AR 42 112 153
351 (1. 3— 74w 97 210 7,164 79 393 1,069 104] 89 9,203
352 | AN TV
353 |7 HIVERY TF )L
354 | THNERY — IV~ —T T 5.3 7.6 251 263
355 | Z7HNLERE A (2— ZF L~FI L) 67 5.4 73
356 | T ARV —T F )= 2.1 2.1
357 |7 xvy 1,155 1,155
358 |57 7= )UK 295 295
359 //lfv/E—f%/v—z, 3—TRF T’
%
360 |[~/L 1,620 1,620
361 |2 miy ST F L 406 406
362 |[OT7 Tx=rFnas
363 [A¥H T 336 336
364 |7z EOFL A—p 96 96
365 |BHA
366 |X— v —TF ) =bRa YL FI R
367 | ANK—CHHV =T FNTx)—)L
368 [4—H—L v ) =T FNTx)—)L 0.075 0.058 0.13
369 | S ULE vk 57 57
370 [BVZ R 290 290
371 |77 7= ETR 10 10
N— (F—=x) =T FN) =2/ F
32 TS —=)VANT 2 T IR L7 L7
373 2—H— ¥ =T F)—5—AF LTz
/—)v
374 | o flk # K OF DK 338 362 858 1,558
375 [2—7FF—L
376 |75 ra—)L 812 812
377 |75
378 | FuE k7 1,050 1,050
379 [2—F s —1—F—
380 |/~mr—1211
381 | TOEV/ARAN 243 73 317
382 |/mr—1301 350 350
383 | 7w 147 147
384 [1—7mETs 1,803 1,803
385 |2— T mETS 8
386 | RILAF L
387 |l = T HAX

-6




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

HEALFE FETIBE L (ke /7, Z A > Bldmg-TEQ/AE
ot 1 2 3 1 5 6 7 8 9 10 11 12 13 14 5] 16 8 19 20 21 ;35% FZ%%
o WA HEHHD | x| . g | TS| BEVL | B RN | s o |BREE | SR | i ARG A% A | Tk | PR AR |

w5 P I e s I A e A A e S WM | RWE | R | s | e
388 | RANT
389 ;\F%#T//I/FUX%I/T/%F&A—kz 7.9 354 18 399
390 [ AFHAFL VT
391 | ~FHHAFL Y =DV T b 0.28 0.28
302 | L —~F e 14,900 559 1,072 43,620 533 0.16 15| 60,700
393 | ~HF TR
394 | YUY LR OZEOILEY 0.42 0.42
305 | ~LAY RO A TEVER 0.66 0.66
396 |PFOS
397 | LY =Rzl
398 |Hif~o o 0.003 0.00003 0.003
399 |~ AT LFER 0.0009 56 3.088 19 199 220 26 0.0001 3.637
400 | Py 995 47 1,958 172| 45,392 837, 1,932 3,976 104 1.3 43| 55.508
401 71M; A= S BARIRARRL, 2746 L 0901 0.00001
402 A7 =F Tk 140 140
403 | Ry 7=y 0.001 0.001 0.003
404 |~ BIanT = )
105 [1BHFE (LAY 80 5.0 29 5.4 735 855
406 |PCB

R (FFmFLoy) =7 LF)Lo—T )
407 | (T AR KD BRFHENR 215155 TOE 163] 5,469 11 155,549 3,441 164,633

DR UEDRAMIIRD. )
408 i”_(giflg‘v”*’”%”l"" 18] 1480  0.006 4,925 6.3 6,429

H (FFrzFLo) =R 7o rz—7/1
109 e 0T 17 26,018 25 35,812 4,783 66,632
410 i”_gi“la;vﬂ*/“”ﬁl*” 231 3,199 18 618 23 4,089
401 R LT LFER 3,536 129 577 258] 25,973 160]  6.832]  3.041] 311 4724 206 15| 45.806
412 |~ A R OO A 1.2 0.69  0.064 1.6 2.1 5.6
413 BT 2L 0.91 0.91
414 | BEK~L A 0.004 0.000001 0.004
415 | A5 IR 10 0.50 10
416 | AR IV IVEE2 — = F )L~FL L 0.55 0.55
417 | ABVIVVEES, 3— TRF T T aE)L
A18 | AH VI NEEL— (PAF VT ) =T IL 0.006 0.011 0.017
419 [ AZDINVEE ) N~V —T F)v
1420 | AEDYNERAT L 193 79 2.4 274
421 [4—AFVTFoAFRH —2—F
122 | T2U LTy 3.312 3312
123 FFATI 0.0001 0.0004 0.0005
424 | AFN=AVFT AT 32—k 20 20
425 (4T
426 | INARTT
427 | AU 175 90 265
428 |7 )T HNT 40 130 134
429 | NBRLT B AF )L 25 25
430 AV R¥HYHNT
431 | 7% AN Y 1,263 1.263
432 | 7INTA 100 100
433 | — /34 350 350
434 | AFHL
435 |EUS /AN IAF L 11 11
436 | TNT 7 —AFNAF L
437 |3—AFNTF AT ) —)v
438 | AF LT T 35 3864 061 0.017 3,868
1439 [3—AFNEVD

1—AF N —1—Txz=LxF /L =kRr~
a0 ) L 0.046 0.15 0.20
141 2— (1—AF LT uL /L) —4, 6-Y=hn

Tx/)—)
442 | A7 m=)v
443 AL
44 [N 7a% T ARRE Y 37 37
445 | JL IR AT 227 227
446 |4, 4’ —AF L VT =)

AFLUEAM, 1o /anFoly) =y
Aoy 0.31 0.31

-7




MG a4l HEHRN - MG B O P A SRR (5 Fn SAE L (IR L1, SRR A T dE B D DO 2 U)Y DL T~ 23, SEBEEY) BE Kt 5 ]

B CTE PRI g/ 2E, 7 Ao oo B me TEQ/
Wit 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 6 17 18 19 20 21 225%_ Fgg‘g
;. WA HEXAD | o | ., o MEBGTE| PR | BB U= | g | ~ BREE . | BRE | B | o | FVVIE | A AREA | Tl | R EEREE | s

w7 et e e e I N I R T T A | com | e men | S04 | R
1448 77(1V_/f7‘(4’ 1=T==l) =V 18 0.047 18
449 | 7= AT AT 7
450 |[EVTFhLT
451 |2—ARFT —B5—AF LT =V
452 |2— AV T U T T — )L 1.7 1.7
453 | V7T B OEDILEY 0.48 62 0.10 63
454 |2— (BRI ST H) VS F TV —)L 0.15 0.15
455 [EJLIRY 23 30 54
456 |WAALT NI=T 4 1,155 1,155
457 [PV )LIRA 428 428
458 |WAFERIA (2 —=F )L~FI L)
459 |WAEERN) A (2— 7T )L )
460 |WARERYRY L 0.35 0.35
461 |WAFER) 7 = =)L 0.38 1.3 1.6
462 WA REN— V<)L — T F )L 0.00004 0.0003 0.0003

() aT 181,329 198,163 2,463 5,331 83,664 99,548 301,838 37,076 8,407 3,837, 565,821 6,894 15,854 34,050 932 365 785 26,805 210 1,105 33,405 1,171 471] 1,609,313

m-8




